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Time/®9F : 2 Hours /90 Full Marks /quif& : 450

Note/TZ :

(374)

(1)

(2}

(3)

This paper consists of Objective Type Questions and is divided into TWO
Sections (I and II) as under :

TE TE-T el SR R Amm R awm el (1 @ 1) ° o &, 9w &
=2 aftia 2 ;
(a) Section~-I consists of 130 Objective Type Questions on General

Awareness, Current Affairs, Common Legal Knowledge, Aptitude and
Mental Ability.

(%) wuz—1 ¥ 130 sghwcfa ww swry o, anle e, g (il
e, AR W e Awm woanmie § )

(b) Section—II consists of 20 Objective Type Questions on (i) English
Language and (ii} Hindi Language.

(@) wves—II # 20 sgiwcdd y@ () S W R (@) G v F 9 @
amenfea €1

A candidate is required to attempt as many questions as he/she can of

Section—I, and questions of ANY ONE of the TWQO Language papers

{i) English or (i) Hindi in Section—II.

apeff @ anifim ¥ 1% wom—I aun woE—I1 & (i) A W () =R o w F

e T W g )

Each question carries 3 marks. One mark will be deducted for each incorrect
answer. Zerc mark will be awarded for each unattempted question.

TAF T 3 % W R TOF Tad TR 3 U um ofF wwRr wwn) ye@e saia
YR T WIHH Y AT

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

It wEiftes Swicus I W TR * e v g, @ Reeam a7 sw 3

Each question is followed by Four alternative answers (1), (2), (3) and {4). Only
one of these answers is correct. Select the correct answer and record it against
the relevant question by darkening the circle with Ball Point Pen in the
Answer Sheet, as per the guidelines.

e TH F U RS I g 1 E R (1), (2), (3) 9 (4) 9%E § awrn
T R TH W had UE @ R @ 21 TE I W 99T Afdm an 3% 959 9
Io-v 8§ st v ¥ ane Rwgen sfw gu (Mes) § 9w wige 89 o
HI ok I |

1 (P.T.0.)
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1.

2,

3.

(374)

Section—I

wWrg—I

The entry port for trade between the Indus trading centres and Mesopotamia was

(1) Elam (2) Oman (3) Bahrain (4) Afghanistan
ey v & afew ¥ aun AEEtEr ¥ e A=OR W T SeumE o
(1) Fom (2) 3 (3) w&us (4) FETHEE

The Veda which is partly a prose work is

{1} Atharvaveda {2) Samaveda {3} Yajurveda (4} Rigveda
iRtk w9 ¥ T § fre I8 R

(1) g (2) @mag (3) T (4) +ag
The Four-Fold Division of society is expressly mentioned in

(1) Satapatha Brahmana (2) Purusa-Sukta of Rigveda
(3) Yajurveda (4) Hiranyagarbha Sukta

YAS % IR weit § wffeRw @ IgE geae: wEl e mr g7

(1) w&T S (2) A F [ GH

(3) TR (4) Teommi gw

Which of the following is not among the “Tri Ratnas’ or gems of Jainism?
(1) Full Knowledge (2) Action

(3) Liberation (4) Belief in God
Preafefa # @ # & Beel’ @ Iu o § afdfw g 27

(1) oo 3= (2) & (3) & 4) f § fEw



5.

(374)
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In the Second Battle of Panipat, Hemu, the Hindu General who led the Afghan forces
against the Mughals, was the General of

(1) Sher Shah (2) Muhammad Adil Shah
(3) Islam Shah (4) Sikander Shah

T % e 3 A el ¥ fRg som AW w1 Igw F Fen g amens o e
Ay on?

(1) W (2) #eRR el TR

(3) =™ I (4) et r

What was the original name of Tansen?
(1) Makaranda Pande {2) Baz Bahadur
(3) Lal Kalwant (4) Ramtanu Pande

AR H YA AH FT AT?
(1) W= a2 (2) ¥ wEER (3) S Frad (4} THag Gie

Who was the founder of ‘Drain Theory’ which among others, exposed the constant
drain of wealth from India to England?

{1) S. N. Banerjee (2) Gopal Krishna Gokhale
(3) Dadabhai Naoroji (4) M. K. Gandhi

3 ‘3 fug’ = wiues W9 o1, 9% g0 o= Trl ¥ oy @, TRe ¥ el & e W@
W F EIGEE gon 917

(1) o To il {2) TurEEs MrER
(3) zreraT RISt (4) Wo Fo it

3 (P.T.0,)
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10.

11,

(374)

Which of the following Commissions/Committees on Education is considered as the
Magna Carta of English Education in India?

(1) Woods’ Dispatch {2) Raleigh Commission

(3) Saddler Commission (4) Hunter Commission

o f frafafge snani/aftfeat & @ e wrg § oSl R & oY aEeR % w8 Amn
E R

(1) 338 feeim 2) ™ smm (3) zer IR (4) TR Imam

Railways were introduced in India when the Governor-General of India was

(1) Curzon (2) Dalhousie {3) Hardinge {4) Ripon
I ¥ @d H YEAE IR & fo6H TER-SE & ang i nE ofi?
(1) s (2) serRs (3) s 4) fem

The Arya Samajists struck deep roots among the

{1) Landless labourers (2) Harijans

{3) Bureaucracy (4) Trading Community

o gwfmt 3 fefafes & @ e ol o el s &t off?

(1) i ufies (2) A (3) e (4) =ERF wEH

The Drafting Committee of the Constitution did not have as its member

(1) K. M. Munshi {2) N. Gopalaswami Ayyangar
(3) Alladi Krishnaswami (4) Sardar Patel
gfaam )y wfufy ¥ Fofflge 3§ @ o9 @ wew & w0 A & a7
(1) %o wo Huft (2) e TMUTERATH IR
(3) g Fowant (4) FRR W
4
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12, Regarding India’s Constitution we may say it is

(1) more rigid than flexible (2) very rigid
(3) more flexible than rigid (4) very flexible
e F R IR imewmee i w

(1) T A e w3 i R (2) Al wIR R
(3) R I g T IR (4) 1aafiE T R

13. “We the people of India having solemnly resolved to constitute India into a Sovereign,
Socialist, Secular, Democratic Republic and to secure to all citizens.” From this
statement we can conclude

(1) Sovereignty lies with the executive of the country
(2) Sovereignty lies with the President
(3) Sovereignty lies with the people of India

(4) Sovereignty lies with the elected representatives of the people of India

“GH, YRd & AT 7 WRG W TH T, THEE, YHANY, TEiEE TF W E ot
TR R gRT T T gEe A weR A b P e E

(1) Feyar 2w R Fdgham R et R

(2) T TeR W it w3

(3) woyE WA K T ® i el

(4) TERE WG @ S g Taffaa ot w el =@ R

14. The territorial extents of Indian State and Union Territories are prescribed in the
{1} First Schedule {2) Second Schedule

(3) Fourth Schedule (4) Seventh Schedule

(374) 5 (P.T.0.)
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15.

16.

17.

(374)

i 759 3R Fgenfta wewi it @sfa dwn @ 3g@ e mn R

(1) wom st & (2) fodt sggsh #

(3) =g s A (4) I g A

Who is empowered to suspend the operation of Fundamental Rights?
(1) Parliament {2) Supreme Court

(3} President (4) Prime Minister

Ted A & A @ riER fRl w27

(1) &% (2) &= AEEE (3) gl (4) Wl

Which Fundamental Right cannot be suspended even during an emergency under
Article 352 of the Constitution?

(1) Right to Equality
(2) Right to Freedom of Speech and Expression
(3) Right of Life

{4} Right to Constitutional Remedies

Gfeue &% g 352 F OPEN UEF & oW ft W genm aftmm = wofm T e
I weHA 27

(1} quHa <=1 Al (2) oo @ JRERE N @EFa = ARk
(3) S = fER {4) wdufrs soed 1 Afien

The Fundamental Rights have the sanction of

{1} the Supreme Court (2) the Constitution

{3) majority opinion (4) the Government

geng At # et T o R7

(1) w&fa =mem (2) wfeed (3) =g (4) W
6
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18. Habeas corpus means

{1} an order from a court to free a person who had been illegally detained by the police
or any other person

{2} an order from a superior court calling up the record of a proceeding in an inferior
court for review

{3) an order from the superior court to an official to show his right to the office
(4) an order from a higher court to stop proceedings in a certain case
4 seefiee & Af

(1) gfem srmar fordl orw =it g g &0 § O @ T Rl wfr W 0w 90 W A
FT AR

(2) =R AR g wie % e Rl foeh oo A oot wRd W WE W owe W\
A

(3) =R TR g R afmmd | o uE Y g i =@ = MW
4) I=a e o fed A f a9 w3 w5 ey

19. The writ of prohibition is issued by the Supreme Court or a High Court against
(1) judicial or quasi-judicial authorities
(2) administrative and judicial authorities
(3) administrative authorities only
(4) administrative authorities and Government
Tate ST AT 3| e g fhed faeg iy fiz wrh fen s 27
(1) Yfis e ofg - wfteerd (2) wmafer g Tl afted
(3) Faw wamafer s (4) yemafis el o wwER

(374) 7 (P.T.0.)
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20.

21.

(3'74)

Which of the following is not included in the list of Fundamental Duties {Article 51-A)
in the Constitution?

{1) To safeguard public property and to abjure violence

{2) Secularism

{3) To uphold and protect the sovereignty, unity and integrity of India
(4) To abide by the Constitution and respect its ideals

W ¥ ooz S1-A § quve wde B g § frfiiee § 4 B offee W8 Ren mn
27

(1) et @i 6 gean o fom = af|m F=1@

(2) dufrderm

(3) W@ N TENAT, ThaT T WS F FEW TG T HET BT
(4) dfaam F fFdl =1 NIeR W 38F EW] H HE &A1

Which of the following describes the nature of the Directive Principles?
(1) They are positive instructions to do certain things

(2) They are negative injunctions regarding certain things

(3) They are both negative and positive

(4) They are justiciable
frefafes § & o MRaes fRgrd & i 1 9= w@a@ 22

(1) ¥ B T/ F FA F TFUHEF g0 27 &
2) ¥ 7B FA M T F HB TETHF W A &
3) ¥ THEUEF T THFUHSF A &

4 ¥ -3



22,

23.

24,

(374)
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The Constitution is silent in the Directive Principles’ about

(1} living wages for workers {2) legal aid to the poor
(3} compulsory primary education (4) adult education
‘Rerenr fagral & Wfyum e few 9 99 37

(1) #fet F o fFrafe wogh (2) TE ¥ fau FEh wEEa
(3) wifad wufis fam (4) saes fham

A uniform Civil Code has been recommended in the Directive Principles to ensure

(1) Economic Equality
(2) National Security
(3) National Integration

(4) Support for weaker sections of society

e fagrd # fram giiftes #0 & fo e fafee fe f fefa & o 20

(1) anffs |aFa (2) ¥ g
(3) T¥la swEEsar (4) TS % FHN T F FEEA

The Constitutional Head of the Executive of the Union is
(1) the President

(2) the Prime Minister and Council of Ministers together
(3) the Prime Minister

(4) the Chief Justice of India

w9 i FEwTE 1 gauie Fey f

(1) ugaf (2) vush wd whuReg @@ w0 @
(3) wuwEf @) W % gen =

(P.T.0.)
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25. The President can be removed from his office before the expiry of his normal term only
on the recommendation of

(1) the Supreme Court (2) the Chief Justice of India

(3) Council of Ministers (4) the two Houses of Parliament

TEafd # FF FEFE F a9F B9 F qd Ik Fuiew A frud Reie w e s gwa 27
(1) w&Ei= =med (2) @ F g <A

(3) ey (4) WO & N T

26. How is the Vice-President of India elected?
(1) By an electoral college consisting of the elected members of Lok Sabha

{2) By an electoral college consisting of the elected members of both Houses of
Parliament and the State Assemblies

{3) By an electoral college consisting of the members of both Houses of Parliament
{4} By the people directly

IR &% IWpufy a1 Fafew 3 e s 87

(1) drwew * Faifm weel @ e fafes gga o

(2) @58 & At wed W o9 WRed ¥ Raifyg wewt @ nisa frefes tea

(3) W % 9N wgAl F wewl gw Tl fates dew g

(4} TE% €7 Q SEaOT g0

27. The Vice-President of India is
(1) a member of either House of Parliament
{2) a member of Rajya Sabha
{3) a separate wing of the Parliament

{4) not a member of Parliament

(374) 10
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29.

30.
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swgafa €
(1) 4o & el off 9 5 & wew (2) TSN & TF U5
(3) @9 ¥ TH YUF w49 (4) 9O ¥ T g TE

The President can dismiss a member of the Council of Ministers
(1) on his own

(2) on the recommendation of the Prime Minister

{3) only under emergency conditions

(4) with the consent of the Speaker

myufy Gf-ofwg & tF gew W wEgE W A R
(1) @ 3 fEswgan () warnih i Rehe
(3) Faa I Efedt # (@) v H wewfa |

Our Parliamentary System is based on

{1} universal adult franchise {2) proportional representation

{3) male franchise (4) male, female and child franchise
et wuda wgfy few w anafa 37

(1) iy TaeF Tt (2) smgwies wfaffiea

(3) TR waTHER (4) T, AREn W T WA

The sole power to control the expenditure of the Government rests with

{1) the Parliament (2) the Prime Minister

(3) the Lok Sabha (4) the Finance Minister

FER W I T g W R w1 wa aie B w da 27

(1) w&g (2) oS (3) R (4) fomr wilt

11 (P.T.0.)
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31. Questions of disqualification of a member of Parliament have to be decided by
(1) the President, according to the opinion of the Election Commission

{2} the Speaker or the Chairman of the respective House in consultation with the
Election Commission

(3) Supreme Court

(4) the Election Commission, in consultation with the Speaker of Lok Sabha
oz ¥ fodft werm Y owvwm gl fawl @ Pofa frad gro fen s 22

(1) Fai=a omm i v w ugufa gRa

2) fafem smm it /@ | T=g ¥F F wfiew v <A@ ga

(3) watwa =mMer™ g

(4) < F v f 1@ w fafEE g

32. The Lok Sabha and the Rajya Sabha sit jointly when
(1) they feel it necessary
(2) there is a disagreement between the two Houses
{3) the President summons both the Houses
{4) two years have lapsed after the last meeting
Hwaw W T B Gqe 45F a9 ot 2
(1) 59 3 VW FEN AEEF A9HS B
(2) @ Q=1 wedi # wEwfa T e
(3) & Tgufy A wEA H smibw W #
(4) = e Yo% # wem g D o e @ g A #

(374) 12



33.

34.

35.

(374)

The members of Rajya Sabha are elected for
(1) life (2) three years (3) six years
Tsaal * wew Feffe fre e §

10U/103/29 Set No. 1

{4) two years

(1) fenrFfer (2 i Ffm @3) s S fm (@) @ a5 ¥ fae
The normal term of a Governor’s office is

(1) 3 years

(2) 5 years

(3) 6 years

(4) dependent on the tenure of the State Legislature

TSTE 1 3ga sEdwe aar ?

() 3=d (2) 5=

3 6= (4) T fauFe ¥ FEwe Wl

Who holds the power of Judicial Review in India?
{1) The President

(2) The Prime Minister

(3} The High Courts and Supreme Court

(4) The Parliament

v § ~nfes aftan 6 wie =@ ww R?

(1) ugefa (2) warrR
(3) 3 MY W Wi\ =REd (4) "ug

13

(P.T.0.)
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36. The authority to restrict or extend the jurisdiction of the State High Courts rests with
(1) the President of India {2} the Governor
(3) the Supreme Court {4} the State Legislature
T & 399 e F AW 47 F FH FA U 9gH & AER e w37
(1) va % ugyfa {2) T~aU
(3) W= =T @) T il

37. The Constitution of India
(1} divided powers between Centre and States in three lists
{2} divided powers between Centre and States in two lists
{(3) listed the powers of Centre but left the undefined powers to the State
(4} specified the powers of the States and left the residuary powers with the Centre
¥ & @faum 3
(1) % 71 T & wem wiwd # A ghel § sta 2
(2) %% a1 TAl % wem wiwat FoQ gied # ata R
(3) %% A wiedl 6 gt Fffa 6t 2 afm e 6 ol o sen = oH R
(4) T H whedl w1 Ig@ G T Al Elin ohwt | %5 w o R @

38. The proposals for amendment of the Constitution can be initiated by
{1) the people alone
(2) the State Legislature
(3) State Legislatures as well as the Parliament

(4) Parliament alone

(374) 14
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Hfum Twiaee e s e fe o T@d @
(1) aa F9d g 2) = faafEm g

(3) T~a fyafas w@ dug g o (4) ¥Fa@ TEg g

The Panchayati Raj Institutions in India get their funds mainly from

(1) voluntary contributions (2) property tax
(3) local taxes (4) Government grants
Jad TS W R W o e fd R

(1) == T 3§ (2) @ WA

(3) wur = A (4) TED Al |

The members of UPSE hold office

(1} for a term of six years or till they attain the age of 65 years
{2) for a term of five years irrespective of the upper age limit
{3) for a term of six years or till they attain the age of 62 years

{4) during the pleasure of the President
UPSE % #edl @1 Fiwe @ ¥

(1) 6 =81 & S S 7% & A o 65 TN Hi T A IW
(2} 5 @ F, oY H FE o T
(3) 6 a5 & vy S 9% 5 A 62 I Hr ey ¥ 7 & ot

(4) TEld H F=BEAR

15

(P.T.0.)
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Directions : The following questions are based on letter sequences with some letters

fdw:

41.

42,

43.

missing. Choose the correct alternative to fill the gap in each case.

Frafafes T oR-F W anuia R, il s R grR ¥ TR TW E Re mE A gfd ¥

fore @ ey = )
a__bc__ab_ _ccaa_ bec__ab
(1) abcca 2 aacbc 3) bacab 4) bcbba
a_ bbaa__baa__baab__aahb
(1) abab {2) baba 3 abbb 4 bbaa
ab__a_ decacb_ _acd___
() cdbbd (2) dabdb B cdbbd 4 cdbdb

Directions : In the following questions there are four groups of letters in which three are

fadwr:

45.

46.

47.

48.

(374)

alike in some way. Choose the group which is different.
Frafafas st # ekl & =w wqg e e &, e @ @7 B 2 e o e § e

&I W W, S g R
(1) DBz (2) QOM (3) USQ (4) JLN
(1) CHEAT (2) ALERTED (3) CREATE (4) REPEAT
{1) KLLM (2) TUUW (3) XYYZ (4) OPPQ
(1) ACEGI (2) SUWYA (3) BDFHJ (4) LJNPR
(1) RESURRECT (2) SUCCEED (3) STUTTER (4) CUNNING

16



Directions :

fdw :

49,

5O.

51.

52.

(374)

the right choice for the question mark.

e gt & e g e sl F Q) S e me §) weas s & wm w ad e #

-qd +H)

Smile : Laugh : : ? : Hot
{1) Heat (2) Sweet
foufg - g/® : : 7 : 3w

(1) Jeoral (2) e

Medicine : Cure : ; Book : ?
(1) Educated (2) Read
ol : ITER ;TS : ?

(1) ffera (2) wEm

? ;: Hell : Bird : Nest

(1) Heaven (2} God
7 w6 ousft : oigen
(1) v (2) =

Teeth : Tongue : : ? : Bottle

(1} Drink (2) Crate
a9 ;7 ||
(1) dr (2) Sl

17

(3) Fire

(3) afx

(3) Library

{3) FEIFE™

(3) Sin

(3) W

(3) Glass

(3) =

10U/103/29 Set No. 1

(4)

(4)

(4)

(4)

4)

(4)

{4)

{4)

Given questions are two sets of words having the same relationship. Find out

Reader

Satan

Plastic

ARw

(P.T.O.)
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5§3. ? : Tobacco : ;: Cup : Tea
(1) Cheroot (2) Toxin
7 ETRR o R O 9™

(1) I (2) <R

{3) Addiction (4) Leaves

)

itk (4) ufe=t

Directions : For each question below determine the relationship between the pair of
capitalized words and then select the lettered pair of words which have a
similar relationship to the first pair.

fdw : 9 e Mo v w02 A7l Wt yee-gmi F wew awsey i Puion w6 e 39
Vo3~ & 99 H, N 6 T We3-TW & TN T @ ¢

54. MORPHINE : SEDATES : :
(1) Drug : Addicts
(3) Medicine : Soothes
uihia ; wifawg sitefimf : .
(1) 37 : e
(3) 3wk : drgr wu wF R

55. NUMERATOR : DENOMINATOR : :

(1) Fraction : Decimal
(3) Top : Bottom
gme ;. e
(1) Pm= : ZwmeE

(3) ¥ : a=

(374)

18

(2)
{4)

(2)

(4)

(2)

4)

(2)

(4)

Liquor : Intoxicates

Oil : Smears

T ; A9 AT 2

A ;g T R

Divisor : Quotient

Dividend : Divisor

Hisis: ; WS

sy : 9qISEh



56.

67.

58.

(374)

CONDUIT : WATER : :
(1) Pump : Oil

{3} Artery : Blood
el R W39 : e
(1) 9 ;: |

(3) awft : &

BREAD : OVEN :
(1} Ceramics : Kiln
{3) Pottery : Wheel

ﬁ'cﬂ‘:i[?ﬁl::
(1) Jufts : & N wd
(3) frdi =1 9= : ofEm

WATER : CONDUIT : :
(1) Electricity : Magnet
(3) Shell : Rifle

¥ ;e Rl UI8Y ;

(1) foga : g

(3) et : e

19

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4}

(2)

(4)

)

(4)
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Behaviour : Liquid

Wire : Sound

g : e
AR : =

Silo : Corn

Iron : Finance

T Tow @hE w1 F T oW
dm : fm

Elevator : Shaft

Noise : Cannon

T : fw
wm o @

(P.T.0.)
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Directions: Read the following and answer the questions given below.

fdw - frferfgs = 7@ ot R fig o vt & s d)

Two union representatives and one management representative are seated together at
an octagonal table with only one seat to aside of the table. No pair of either union or
management representatives may be seated together. Two additional management
representatives are seated.

I F T @ e F w vkl = o o swwidi 39 oW &3 € A9 %
PR Fme w W ) gFeR v T % K @ | U A9 98 A8 wEd) T ¥ Q)
sfafer wfefafer off 43 gu &

59. Seated between the two union representatives are
(1) at most two management people
(2) only two management people
(3) no more than one management person
(4) three management people
I F § s & fe 33 e d
(1) At ¥ At wwaa & @ gfeff (2) Yo F Faw A vy
(3) WU F Th oy 4 s (4) v & dw wfaffy

60. Seated opposite the first management representative
{1) must be a union person (2) may be a union person

{3) may be a management person {4) must be a management person

yerA % Yo wiati & fowda dan gan wRifafy
(1) Feem & 3fam =1 o wfefafr €m (2) IR w1 TF TP S wea ?
(3) arud W W wfaify B g R 4) v @ W = R fm

(374} 20
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61. If two more union representatives are seated without causing any changes of seats,
then there is(are)

(1) no empty seat next to a union person

(2) no empty seat next to a management person

(3) two empty seats between union people

(4) at most one empty seat between union representatives
At @18 # N ofed faw R @ ok gimw wiaffy e and, @
(1) IFmA % sfefafy F ana § o @l de 8 =i

(2) oA & vhafify & w@ § wE et @iz T8 a9

3) I % whfifet & fiw Q@ ot 9 s=0i

(4) qfee % whfRet & 9 ofRe 3 9w & @ gl b

Directions : (Question No. 62-65) Read the following and answer the questions given below.
frdwr (3% T 62-65) Pirfiiag # 1@ wd ¥ Ry 7o v ¥ W3

Five persons A, B, C, D and E were traveling in a car. There were two ladies in the
group. Of the three who knew car driving, one was a lady. There was one couple, of which
only the wife could drive the car. A is brother of D. B, wife of D, drove at the beginning. E
drove at the end.

TR At ABCD WET FRA BN & ® AN = o § @ sitad ff sx =om
# IEFEd WY T 9 =i F 4w oalken o oot oo, el Few oueh @ e

wen gl fH A D w wE 31 D H et B Y I w9 ¥ wK 9] E ¥ o o &R 9w
o)

62. Which of the following is a pair of brothers?

(1) AB (2) AD (3) DE (4) AE
= # 2 - T Ao AR
(1) AB (2) AD (3) DE (4) AE

(374) 21 (P.T.0.)
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63.

64.

65.

66.

{374)

Who was the other lady in.the group?

(1) E (2) D 3 C {4) Data inadequate
Tt § s Afger w1 of?
(1) E (2 D @8 C (4) famwr st

In the case of which of the following pairs, can no relationship be established with
anyone else in the group?

(1) AE (2) BE (3) CE (4) DE

freafifaa & @ form IS & oy abEl & wE § @ Gl & off o gera-fuafon gee T
27

(1) AE (2) BE (3) CE (4) DE

How was E related to A ?
(1) Brother {2} Father (3) Friend (4} Data inadequate
E & A% a9 F faa =@?

(1) (2) T (3) fm (4) T syt

India’s paper currency is controlled by the

{1) Ministry of Finance (2) Government of India
(3) State Bank of India (4) Reserve Bank of India
WA i FET gz N Fdba e R

(1) foa s (2) YRE TR

(3) wRdE we % (4) Wl fod ¥

22
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67. World Population Day is

(1) July, 4 (2} July, 11 {3) August, 4 (4) August, 11
fava wwoen fam R
(1) 4 gars 2 11 I (3) 4 @ (4) 11 304

68. Medha Patekar is afan)

(1) Philosopher (2) Scientist

(3) Environmentalist (4) Journalist

T IR § &

(1) TR (2) Iwh= (3) wafaafdg (4) TR

69. Which of the following is concerned with the promotion of dance, drama and music?

(1) Lalit Kala Akademi (2) Sahitya Akademi

(3) National School of Drama (4) Sangeet Natak Akademi
fifefas & & ¥ 3, Tem @ wiw 9 wag 27

(1) afcrasen e (2) ofg srmh

(3) rE A NE g @) g TeE TR

70. Human Rights Day is observed on

(1) 4th June (2) 10th December

(3) 24th October (4) 6th August

THETRR f@a &1 wem %9 fen omar 27

(1) 453 (2) 10 fwmr (3) 24 TN (4) 6 T

(374) 23 (P.T.0.)
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7T1.

72,

73.

(374)

Ghauri is the name of

(1) a Hindu Goddess

(2) a cow appearing in Hindu Mythology
(3) Missile developed by Pakistan

(4) well-known pilgrimage centre in North India

o fFom am }7
(1) = fag ¥ (2) fog yooit # Sffas =
(3) TfFEr T Rl @ sdwms (4) IW G W T guitg Al

What does UNESCO deal with?

{1) International Post and Telegraph

{2) International Refugees

{3) World Intellectual Property

{4) International Educational, Scientific and Cultural Mattersg
UNESCO =g B

(1) I=tids o % @ e @

(2) St wonfdE &

(3) T Nfgw T @

(4) g Sale, dahe @ wgles T 3

Where is the International Court of Justice situated?

(1) Davos (2) Hague (3) New York (4) Paris
FEE AT wE oafem j7
(1) s (2) 3 (3) =T (4) Y=

24
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74. The Headquarters of Red Cross is at
(1} Marakesh (2) Geneva (3) Davos @) Kolkata
T *a &1 gEed #al sara g7
(1) TR (2) SrE (3) <A (4) @

75. Uniform Civil Code is envisaged in which Article of the Constitution of India?
ey ffae dfkm @1 yaum wdy w@favm & fg eg=eg § fmn mar 27
(1) 42 (2) 43 (3) 44 (4) 45

76. ‘Panchayati Raj’ is based on the ideology of
{1) democratic decentralization
{2) community cooperation and development
(3) people’s participation in Government
{4) cultivating political awareness in the rural masses
‘varadt T fRE omest w mafa R7
(1) it fEw (2) s FEdfen @ R
(3) TR ® e H g (4) T S # TeEifas SIESar B agEn

77. Headquarters of ILO is at
(1) Geneva (2) London (3) Karachi (4) Moscow
ILO =1 qearers =gl 27
(1) = (2) = (3) e (4) TR

(374) 25 (P.T.0.}
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78,

80.

81.

(374)

Who said, “The King is the image of God himself ”?

(1) Bosanquet (2) Hobbes (3) Kant
frar w1 2, “‘uen $eR W yReT @ 277
(1 NGide (2) efed (3) =

‘East is East’ is a British film starring

(1) Om Puri (2) Amrish Puri  (3) Aamir Khan
4w ™ = w ity Fem 2, s aftmar €
(1) am gé (2) wle gd (3) PR @M

First Indian Port to be corporatised by Union Cabinet

(1) Encore Greenfield Port (2) Haldia Port
(3) Jawaharlal Nehru Port (4) Kandla Port
F= vhmea g e wom aRetE see 2

(1) wFR firfies 0 ) efeEm W

(3) TS dEE 91 (@) =i i

For what does ‘council de tat’ stands for?

(1} A Body of Rome

(2) Any Administrative Tribunal

(3) A French Body to review administrative decisions

{(4) A Body in the Vatican City

26

(4) Green

(4 "=

(4} Salman Khan

(4} wEHE @M
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83.

84.

(374)
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Tt & T A A §

(1) u A T G

(2) #iE yoWE T=E

(3) yomafaw foidi 6 odfiar % fau w $9 e
(4) ¥Mw= 7R H w gEn

What is invitation to tender?

(1) Is is nothing

{(2) It is not a promise but only an invitation to offer
(3) Offer

{4) Proposal

fafay % fou smism = §7

(1) 98 Fo ot 3 8

(2) 98 ©F T4 T, afcs Faw v & fow s R
(3) v

4) ==

The Central Vigilance Commission was established in
F Tk M & T w9 f i ofi?

(1) 1949 (2) 1964 (3) 1978 (4) 1948

A contract is

(1) agreement between minimum four parties
(2) an agreement enforceable by law

(3) simple agreement

(4) a written document only

27 (P.T.0.)
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wF df R
(1) fraeam av wifal & = S 2) & faftmwra wfae
(3) wmrg e 4) ¥ w fafes e

85. If the contract is to be binding
{1) it must be drafted by a lawyer
{2) the meaning must be understood in the same sense to all the contracting parties
{3) meaning should be clear

{4) it must be registered

R dfag F Tl @ ], @

(1) R & v g fiffs @ =g

(2) e o Gl i ot wif % R 9 @ ol
(3) wd vy g =fee

(4) wEH Gefipa M fEr R

86. Dissolution of marriage is called

(1) Conjugal Rights (2) Divorce

(3) Nullity of Marriage (4) Judicial Separation
frar wau-fdt = w@ @ R

(1) T AfUFR F T (2) we=E

(3) fomrg &t sFam (4) R qdE

(374) 28
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87. A consideration can bhe

(1) in future only (2) in past, present or future
(3) in present only (4) only of past

foram wovE 2

(1) Faa wfas o (2) @, Fdam srrar Wiy o
(3) %o FEWA o (4) Faa ufesg @

88. The word locus standi refers to
(1) local standing for election
(2) standing for local election
(3} the right of a party to appear and be heard by a court

{4) to locate and find the accused

Locus standi (G I & AR@R) ¥ 7vA 2

(1) Fefe & o e Taferfy

(2) wuria fafe & fag st

@) foet ot g FE F Tmg fS@ A qw G TN F= AR
(4) st =fe 6 @ @ W g3 e

89. The two underlying concepts of Administrative Law are
(1} Separation of Power only
{2} Rule of Law and Separation of Power
(3) It is only one Rule of Law

{4) Delegated Legislation

(374) 29 (P.T.0.)
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90.

91.

92,

(374)

wrafs fBify § Bk sEurond §
(1) waa Wit F1 G (2) faftrmsg TeR @ e 1 geEw
(3) ¥ Faw ww faftes fram R @) vemfya faoms

A contractual right

(1) is not enforceable right (2) is different from a right in tort
(3) is the same as in tort (4) is not a civil right

T dlerens e

(1) =l sl T8 2 (2) g gt R A g d
(3) P wEl AfYFR F T R (4) o= faftm aiftem @ 2

Who is responsible for introduction of Public Interest Litigation in India?

(1) Justice V. R. Krishna Iyer (2) Justice A. M. Ahmadi
{3) Justice P. N. Bhagwati (4) Justice A. N. Ray
i # S fm wfew s % e St B §1

{1) s FHo Mo Fo1 =W (2) 9fRW To TWo Y
(3) wifew dlo wo i (4) ST To TWo W

The Fundamental Source of Law in India is

(1) Custom (2) Usage

(3) Trade (4) Constitution of India

Wi & Y W g W @

(1) W (2) Iwm (3) =y {4) wwdm gfyam
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83. Rights and Duties are

(1) corelated (2) coordinated (3) separated (4) exclusive
AFFER @ FA §
(1) TR T (2) wwfam (3) qugm (4) fafsm

94, Large majority of Indian Muslims are covered by which School of Law?

(1) Hanafi (2) Ithna (3) Ashri (4) Ismaili
e & sfewen yfem fra fafy woem @ @eg €7
(1) =f (2) T (3) IRy (4) FoEh

95. When a Muslim husband and wife mutually consent to a divorce, it is known as

(1) Talag {2) Khula (3) Mubarat {4) Talag-a-ahsan
& T gfeem gfd-ueh omueh weafa @ oo @ @ fulw @9 €, @ 3@ s o R
(1) =R (2) g (3) &R {4) TEITH-T-3IEET

96. In Law, a man is presumed to be dead if he is not heard of as alive for

(1) S years (2) 7 vears (3) 9 years {4) 10 years

fraft safy % Sfifeq @ & @ 7 fien W fafe & ogEm fmft =afs & 7@ =m e s
27

(1) 5 o (2) 7 =d 3) 9 =¢ (4) 10 =d

97. Word ‘Battery’ means
{1) cells as used in transistor, etc.,
{2) intention to cause death
(3) actual or intended striking of another person

{4) knowledge to cause death

(374) 31 (P.T.O.)
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98.

99,

100.

(374)

‘Rl T R AW R

(1) giftret ot & wg& aa

(2) T A B g

(3) Tt o =afts W Irafa® AT FOBIqES FeR
4) T+ F v A IEEd

‘Damages’ are awarded except in one case
(1) tort (2) breach of contract
(3) libel suit (4} criminal conduct

Faw F B SR ol wore § ‘wfigRl wem ) St ?

(1) IwFe (2) wRg-¥m

3) IR ¥ firg I8 (4) AUl A

Mens rea is

(1) guilty mind (2) intention (3) evil (4) unlawful act
Mens rea (qUits o=:fRfy) @ omm 2

(1) Jweh 7fRss (2) = (3) g (4) N

A marriage between an unmarried woman and a married man where his wife is alive, is

{1) null (2) void {3) voidable {4) valid
w JfEfe often © @ e g, fed o Siftm @, ¥ A9 fer o o
(1) Fa @ = (3) =i (4) 2w

32
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104.
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A child born after father’s death is

{1) postliminits {2) bastard (3) posthumous {4) postea
frar gy & TEW W A Twen Ry 9@ @
(1) refaffea (2) ¥RS AW (3) WONR HaH 4) @fes

Husband and wife have a right to each other’s company. This right is called

(1) Legal Right {2) Matrimonial Right
(3) Comsortium Right (4) Conjugal Right
Tfd @ Ut & TRl g W aftien ) m aftem B FE omr }
(1) faftes afemr (2) Aafes AftEr

(3) Fulfam sAfeER {4) e AR

Pacta sunt servanda means an obligation on the part of the States
(1) to honour the Treaty

(2) not to honour the Treaty

(3) to pass the obligation to some other country

(4) Both {2) and (3)

Pacta sunt servanda (873 adw wed) A gl & B giRE @ amm 87
(1} =fag = o (2) ufagr 1 oM T FE0

(3) zfca #t B o T = dfom (4) (2) @ (3) g

There is a shift in criminal jurisprudence
(1) from punitive to reformative {2) from reformative to punitive
(3) no change (4) from punitive to stringent

33
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105,

smqufee fafteme & oftas qu @
(1) TfEs & gawerh
(3) =¥ wfEdw =

Ignorance of Law

(1) is excused

(3) is a good defence
faftr it s

(1) = g = R s R

(3) TH 3To5T d@d B

(2) Garrews F Fifew
(4) T*F ¥ w=n o

(2) is not excused

(4) is knowledge of the fact

2) # sm T fFn S

(4) a9 S TH &

106. Tort is a civil wrong as opposed to
(1} Commercial Law (2) Company Law

(3) Sexual Law
o o fafm g R, W) Pl § @ o & ofegw @
(1) =forfRrs fafy (2) weft Rty (3) wfrer faf

(4) Criminal Wrong

(4) It gk

107. Defamation means
(1} attack on the person’s self-respect
(2) attack on the person’s reputation
(3) attack on the person’s freedom

{(4) attack on the person’s equality

(374) 34
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e ¥ WE R
(1) Tt =afe & ameH@T W TR (2) Tt =afr it =fd @ =R
(3) et =afs & waTa W wEe (4) Tt =afts 6t AT W WER

108. When an offer is accepted, it becomes afan)
(1) agreement (2} wvalid contract (3) proposal (4) consideration
9 % TW@E W SR R fon s R, @t 3 v R
(1) =W (2) g wfaq (3) AT (4) faamofim

109. Natural Justice is Justice that is
(1) very complex (2) elementary and simple
(3) sophisticated (4) technical
@I =g YW A g s
(1) s=ia s R (2) YEOE W@ T R
(3) onfimmew 2 (4) wEARl B

110. Tribunals are the creation of
(1) Legislature {(2) Judiciary
{3} Public opinion {4) Ministry of Home Affairs
Y=ne @ TeA e S R
(1) faenfrr g (2) R g

(3) wmd gra (4) T8 FATE TN

(374 35 (P.T.0.)
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111.

112,

113.

114.

(374)

Civil Procedure Code relates to
{1) Legislative Procedure

(3) Revenue matters

fofda shem dfta el wig 27
(1) wifrr wBFm

(3} TerT AWE

‘Decree’ means

{1) formal expression of the decision
{(3) further adornment of the case
R’ @ smmm 2

(1) Frofa it shuafs e

(3) TR g

{2) Civil Court Procedure

{4) only Supreme Court matters

2) Tafdm # vl
4) ¥F@ 3= AEEE F umS

(2} informal expression of the decisio

(4) None of these

2) frofa f seitafs afvafs
(4) v @ +§ &

‘No one shall be condemned unheard’ is the principle of

(1) Natural Justice

(3) Criminal Law

{2) Equity
(4) Civil Law

g % a R @ At it wd R wear, 9e Rigr e 27

(1) Tmfes =m (2) aw

Piracy is a crime committed
{1) on the high seas

{3) on the borders of the country

36

(3) vy fafy (4) fafe fafy

(2) on the air travel

(4) defence crimes
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Siereegar i mea Beft §
(1) g a5 & (2) g A & R
(3) T $ dmwel w @) g & o sty

When there is no consent, there is

{1) no agreement {2) no contract
(3) no proposal (4) no acceptance
gl & o |

(1) washer 96 g (2) dfw 5 g
(3) W@ T e (4) wirpfa T Bt

Breach of Contract means

(1} violation of contract

(2) non-performance of contract

(3} refusal to perform the contract

(4) only offer and not acceptance which is present
gfag-am & fm 2

(1) &R = g

(2) ©faar % feng 1 9

(3) wfam & ey & waw

(4) ¥a@ y&E @ I@H FE w1 F SiFh Tl

Damages are awarded by Court in
{1} Criminal Cases (2) Civil Contracts

(3} Breach of Contracts (4) Violation of Constitution

37
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118.

119,

120.

(374)

e g TR amen § gfagl w e fear wmar 87
(1) fas wme 2) Rfaw dfi
(3) wfagr-um (4) sfgam =1 3g=A

Any decision given by a Court without the presence of the party is called

(1) decree (2) Ex parte decision

(3) injunction (4) judgment

ot v fi spufeafa # W 3o R w9 oft foly aemar @

(1) f&h (2) wwusfE fuig (3) FRurm (4) frlg

Summons issued by a Civil Court

(1) shall require obedience

(2) obedience is not compulsory

(3) obedience depends upon the will of the party

(4) obedience depends upon the advice given by the lawer
fofm #¢ grr s W

(1) 1 JSGIEA AEEF €M

(2) & FguEw e T ¢

(3) + JFFIRH TG 9§ i oo W it ?

(4) 1 FFuE Fhe di gEe W it R

A Law which comes into effect from a past date is called
(1) Retrospective Law (2) Prospective Law

(3) Pre-dated Law (4) Anti-dated Law

38
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et qd fafa @@ @vp @ ot fafr wgemdt R

(1) esht fafy (2) qEHitm &ty
(@) qd fafy arh fafy (4) -3 Bfy

121. The maxim actus non facit rea nisi mens sit rea means
(1) crime has to be coupled with guilty mind
{2) there can be no crime without a guilty mind
(3) crime is the result of guilty mind
(4) criminal mind leads to crime

Actus non facit rea nisi mens sit rea (%39 ®d T F oot 78 s IR W oA
Ot 7 B) W FA W AT B

(1) o9 ¥ gy 3t 73 F| e oft v R
2) 3t A F famr w1 gy @ 9 R

(3) vug ft 7 @ qfom ?

(4) it W eTany fit AR F I R

122. The Right of Private Defence is contained in
(1) Section 94 of IPC {2) Section 95 of IPC

{3) Section 96 of IPC {4) Section 98 of IPC
T 22 IR At Fw aw § =fere @an 5 sfer = g R o 47

(1) & 94 (2) 9@ 95 (3) @7 96 (4) = 98

(374) 39 (P.T.O)
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123.

124,

125.

(374)

Abetment of an offence

(1) is always an offence

(2) is never an offence

{3} may be an offence depending on the circumstances but not always
(4) may not be an offence depending on the circumstances

s % foe guie

(1) &b U Uy ¥

(2) W ft & e T R

(3) T IOY A wHar 3, M F iR w fol v 2, /fE &g Tl

4) @& Iuey 7 B FHa g, N 5 et w fnk s @

For an unlawful assembly under Section 141 of IPC, the minimum number of persons
required is

(1) five (2) seven (3) ten (4) twenty

g 4T d@fear f 9 141 F sl Ay feg Sum ¥ fom wn-@-ww fFax wfet B
AT o 7

(1) 9= (2) =W 3) = 4)

During the fight between A and B, the two ladies, A pulls B by hair and removes some
of her hair. A is guilty of an offence of causing

(1) simple hurt
{2) grievous hurt
(3) simple hurt by rash and negligent act

(4) grievous hurt by rash and negligent act

40
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A ufaemell AW B ¥ fi9 §ud & AW AB F wul I giwdt 2, Fo@ oF 79 FW 3@
e B A Fra § @ g ammmyg f St R

(1) wngrRwr I9gfd
(2) TR Imefy
(3) STEATT Tl SYaTgYl &N ¥ FERW I
(4) IqEAT F egel g0 F viefi Iuela

The involvement of five or more persons is essential for

(1) theft {2} extortion (3) robbery (4) dacoity
frefofaes 4 @ o fom o= o1 it =frat 6 domar saws Bt 27

(1) = (2) ST (3) < (4) S

The essential ingredients of a crime are
(1) motive, mens rea, and actus reus (2) motive, intention and knowledge

(3) - actus reus and mens rea (4) knowledge, intention and action

Y F AEEF T ¢
(1) ?g, OYs R @ ot w8 (2) ¥g, oW W@ IH
(3) mRte 9 W Uit g9 (4) W, INE T FHAE

When the injury is intentional and sufficient to cause death in the ordinary course of
nature and death follows, the offence is

(1) attempt to murder

(2) culpable homicide not amounting to murder

{3) murder

(4) attempt to suicide

41 (P.T.0.)
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129.

130.

(374)

R wilifte Gl argg W A ™ D o T F fow T wiw @ AR g Wi @ |,
@A I7 Y R}

(1) &= = WE

(2) Aufrs wME 99 W T e i R A T I @
(3} &=

(4) STeHECE WO

Removal of ornaments from body of one after causing his death is

(1) robbery (2) theft

(3) cheating (4) an offence under Section 404
ot ) off T w0 vva suF ol ¥ sy AR fR sy ¥ o omar 7
(1) =& (2) =

(3) BA-FR (4) 9T 404 & F=wiq TH AWY

Six persons assembled on the platform of Mumbai Railway Station and started fighting
with each other. The passengers present at the Railway Station got annoyed and felt
disturbed. The public reported the matter to the police. These six persons are guilty of

{1} unlawful assembly {2) rioting

(3} affray (4) assault

s (e WA F WCEH T B G W g ol T-gW @ ¥ F @) W WIH W
SYfeyd FEft-Tr e € Y TH oWnd orgwa e @i @rit 4 g % uw Rema i wh @
=afts e sy ¥ gt #7

(1) fofr g s (2) @@ (3) Tm (4) SRR
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Section—II
wog—I1
Either

ENGLISH LANGUAGE TEST

Note : Four alternatives are given as possible answers to each question. Give the correct choice
as an answer.

Directions : (Question No. 131-140) Read the passage carefully and then answer the
questions based on it. Do not go beyond the passage in answering questions.

By the mid-eighteenth century many houses had lavish carpeting, marble floors,
chandeliers and fireplaces in British India. Such splendour and extravagance was
unknown in this country. One lawyer is supposed to have owned seventy-one pairs of
breeches and eight-one waistcoats—were signs of the kind of money a certain class of
Englishmen was making in India. This was the Nabob. The wealthy Nabob was of course
the arrogant Englishman, whose appearance can be dated back to the latter half of the
ecighteenth century. The Nabob—as distinct from the Indian ‘nawab—was one who
wanted to lead in India the good life denied to him in England. He was uncouth, wealthy,
dishonest and bullying. Macaulay described a Nabob as a ‘gentleman with a tawny
complexion, a bad liver and a worse heart’. Dr. Samuel Johnson commented about the
most famous Nabob of all, Robert Clive : ‘a man who acquired his fortunes by such crimes
that his consciousness of them compelled him to cut his own throat’. Clive committed
suicide after his return to England. The Nabobs built lavish houses after Clive, drank
heavily, gambled and indulged in massive feats and merrymaking. They had made their
fortune in India and were very often fascinated by Indian customs. Often they went back
to England, acquired peerages and some even went on to become members of Parliament.
The Nabobs were the first to identify the ‘nautch-girl’ or Indian dancing girls as their main
source of relaxation, and poems of the time often describe the sinuous movements and
seductive powers of these girls. Many Nabobs tock Indian wives, often to the chagrin of
the English girls who came out to India to find husbands among their countrymen.
Nobobs who dressed the Indian way earned the displeasure of their countrymen and
women for going native. They learned the native languages and acquired the fine art of
bullying in India. Flogging the servant for real or imagined insults or inefficiency was a
common practice for the Nabobs.

(374) 43 (P.T.0.)



10U/103/29 Set No. 1

131. What sort of houses were constructed by the British in India?
(1} They built huge houses after the Indian fashion
(2) They rebuilt Indian houses to live in them
{3) They built lavish houses unknown earlier in this country

{4) They just put chandeliers and fireplaces in Indian houses

132. How many breeches and waistcoats did the extravagant lawyer own?
(1) Eighty-one pairs of breeches and eighty-one waistcoats
(2) Seventy-one pairs of breeches and eighty-one waistcoats
(3} Eighty-one pairs of coats and seventy-one waistcoats

{4) Eighty-one pairs of waistcoats and eighty-one breeches

133. What was the distinction between the Nabobs and Nawabs?

(1) Nabobs were those who wanted to become like greedy Indians in taste and
manners

(2) Nabobs were those who wanted to lead the good life denied to them in England
(3) Nabobs were those who wanted to become cruel like the Nawabs

(4) Nabobs were those who wanted to rule India like Englishmen

134. Which trait did the Nabobs, broadly speaking, lack?

(1} Uncouthness ({2) Kindness (3) Dishonesty (4) Wealthy

135. Why did Robert Clive commit suicide according to Dr. Johnson?
(1) Because he had started loving Indians very much
{2) Because he was poor and life had become unbearable
(3) Because the pangs of conscience about his crimes were too much for him

(4) Because he wanted to marry some Indian nautch girls in England
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137.

138.

139,

140.

(374)
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What did the Nabobs who wanted to imitate Clive not do?
(1) Build lavish houses {2) Drank heavily

(3) Indulged in massive feasts {4) Start charities

What did the Nabobs not do on their return to England?
(1) Acquire peerages {2) Become Members of Parliament

(3) Lead comfortable lives (4) Marry nautch girls

What was the main source of relaxation for the Nabobs?
{1} Gambling {2) Hunting

{3) Indian dancing girls (4) Heavy drinking

Why were the English girls displeased when the Nabobs took Indian wives?
(1) Because they thought Indian women were ugly

(2) Because they felt that they were richer than the Indian women

(3) Because they would not be able to marry their countrymen

(4) Because they felt that Indian girls had bad character

How did the Nabobs behave with their servants?
{1) They gave them huge presents

{(2) They gave them big houses to live in

(3) They flogged them on the slightest excuse

(4) They married their women to them happily
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Directions : (Question No. 141-150) Choose the correct answer.

141.

142,

143.

144,

145,

146.

(374)

Spot the phrasal verb in the given sentence :

I hate it when my mother noses around my room.
{1) hate it (2) noses around (3) my room (4} my mother
Spot the phrasal verb in the given sentence :

The mother dressed her son down for skipping school.
(1) mother dressed (2) her son

(3) dressed down (4) dressed her son down

Spot the phrasal verb in the given sentence :

She always dresses up at work.
(1) she always (2) always dresses (3) dresses up (4) at work
Spot the phrasal verb in the given sentence :
Spicy food disagrees with me,
{1) disagrees with (2) spicy food {3) with me {4) food disagrees
Spot the phrasal verb in the given sentence :
My dad said he was going to see about buying me a car.
(1) dad said (2} going to see about

(3) buying me (4) see about

Fill in the blanks :

America the only country that went barbarism to decadence
without civilization in between.
{1} was, of (2) is, from (3) is, into (4} is, for
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147. Spot the correct sentence
(1) Consistency is the last refuge of the unimaginative
{2} Comsistency of the last refuge in the unimaginative
(3) Consistency in the last refuge among the unimaginative

{4) Consistency among the refuge is the unimaginative

148. Spot the correct sentence
(1} I think that God in creating man somewhat overestimated his ability
{2) T think that God after creating man somewhat overestimated his abilities
(3) I think that God of creating man somewhat overestimated his ability

{4) I think that God as creating man somewhat overestimated his ability

149. Spot the correct sentence
(1) It is always a silly thing to give advice, but to give good advice is fatal
{(2) It is always an silly thing to give advice, but give good advice is fatal
(3) It is always a silly thing to give advice, but to give good advice of fatal

(4) It is always a silly thing to give advice, but for to give good advice is fatal

150. Spot the correct sentence
(1) One should always play fairly when one has the winning cards
{2) One should always play fairly when one’s has the winning cards
(3) One should always play fairly when one have the winning cards

(4) One should always plays fairly when one has the winning cards
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151.

152.

153.

154.

155.

156.
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